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For they are indeed 7°71, etc. — 9321 TV PR

Overview

The X3 here states that (according to one view) if the 770 would have
written just 712 and one other 28, we would be able to derive from them all
the other max except for 17p. The reason why 779 could not be derived from
this mw: 7% is because the Mar of the Mw: 7% are N2 nnA PIvIA (however 1P
is not a nonnn 7). If however we were to maintain that by 77 there is
more reason to be 2> since it is P>1% NI, then we could also derive 1P
from the abovementioned mw: 7X. It is not clear what the X723 means that
the other max are Jn>nnn 17 (as opposed to 17p). It is also not clear who
maintain these two opposing opinions concerning 7p; whether there is more
reason or less reason to hold 77p liable.

In the X3 later' there is a dispute concerning the pri ¥ that a on pays,
whether it is a 01p or it is “n. The X3 explains that this depends whether
we maintain that 2> ond are MW NP2 (then 1"mis a 3l:)JP) or whether
DMW DND are MW NPINA Y (then 1" is Pan).

mooIN rejects a possible explanation of Jnrnn 173 PW:
— 2515 XDT 1195 NONN 92) 197 19 ONT OHY P PRYUNY VI PN

We cannot explain that the meaning of "1 77¥ 12w is that 7X? 7mM M2
pay a a»w P initially (as opposed to 77 which pays a 1"m), for in that case

let us derive that 399 should also pay a "1 initially, since 177 is not written
in the 7n.°

mooin offers his explanation:
— POTNY 1997V 13990 INDINNN PTYINT ON 13929 WD) NON

Rather, explains the n'- that the term jnbrn» °7¥ means that it is

common for these M2X to cause damage; they are initially prone to damage -
NDIP NPT XAYD IINT JNDY 599 NDOY HPING DXINY BNDT 1793 19 PRY 7N

I'x, A7

2 One of the differences would be if the ?*1 admitted that his an 7w gored. If X117 11, then he is 27m;
however if X01p 11 then the 777 is that 01p2 77 is WO

? The oxen are considered to be guarded and not prone to cause damage (by goring); therefore 777 1» the
owner should not be liable. However the 7m0 punishes the 2w 5v3 in order that he should guard them
more carefully.

* Oxen are considered to be prone to gore. In reality the owner should therefore pay a 09w pr1. However the
771N took pity on the owner, since he was not sufficiently warned as of yet, and obligated him to pay only a
1"1. (It would seem that that even according to this 7"», the 2> of 17p is less 177 than the other o*p>1.)

> The X723 is now discussing whether we can derive 77p from the mwn 7X, if 172 were not written in the 777N.
If 17p is not written then we cannot say that 177 does not pay initially a "1, for there is no 177 at all. In fact
we will derive from the mwn 7% that 17p will initially pay a w"1.
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However it is uncommon for 199 to cause damage, since oxen in general
are considered to be guarded, according to the one who maintains that
the P11 vxm that a on (of 7p) pays is punitive; not a monetary obligation.® This
explains why 179 cannot be derived from the mwn 7%, for it is the only P> that is npIn2
T and is not porive 1977,

mooIn continues to explain the other view that 177 can be derived through a mw: 7x:

— NI RPN NIADAT 99NT INID 139917 SnarTy 199 NN 9NINT INNDDY
And the one who maintains that there is more reason for 197 to be liable
(than the other max); this is referring to the one who maintains that the

1''m is a monetary payment and not (merely) punitive -
— MY NPIND MNP NYY PIAY 19TV

since it is common for 777 to cause damage, for oxen are not considered

to be in a guarded state.
$ND WAANIN DT DIVNPN YOV 119D XY

And it is not as >'"'w9 maintains that it was not made explicit anywhere
who is the 7" that maintains X9°7V 17p.

Summary
The dispute whether 1772 can be derived from the 7w 7X, is dependent on the

dispute whether 2MY are MW NP2 or not.

Thinking it over

According to the n"9, the X3 should have said &9°7v 19p7 7"n21 because
MNP MW NPT WD DMWY or PR 1977, etc.; why mention PYEY NI,
which the other 7" (who maintains that 2> 7°w np1n2) also agrees to?!’°

®See ‘Overview’.

"1t appears that the X71p of 71m°w np1n3, cancels out (and outweighs) the X of P15 N>,

8 1P is X9*7v, as the X7ma states, for (in addition to p°1777 1977 as are the other MaR) it is also P12 WNIND;
which we do not find by the other max.

? See ;1 "M
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